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PART A TEST QUERIES:
?- scrabble_score([s, ¢, r, a, b, b, |, e], Scrabble_score). WifRRS +i1wC
?- scrabble_score([],Score). W Ry 1L
?- scrabble_score(X,Y). WaoRkksy f1NE
?- scrabble_score(X,10). wWaR ks = INC
?- [‘shortWord’], findall(X, (shortWord(X), scrabble_score(X,10)), WordList), length(WordList, Words). eR¥S f1NE
PART B TEST QUERIES:
?- word_with_replacements([s, ¢, r, a, b, b, I, e], Word_with_replacements). WoR|KE QRuT WiTvu MuT PLEL REPEAYS
?- word_with_replacements(Word, [s, ¢, r, e, b, b, |, a]). woeflks QRUT W™ MULTO\PLE REPATI
?- word_with_replacements([c, a, r, e], Word_with_replacements). wW afR\y fUT W (TN ruLTP e REPERTS
?- word_with_replacements(Word, [c, e, 1, al). wof ks Luv wr™ ™MuzTPee REePents
?- word_with_replacements([],X). WoRWY finE

?- word_with_replacements([p],X). woR\§ FenNE
?- word_with_replacements(W,R). 4IV&R ONLY 3 ANSWERAY RK&?EN\"@
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/*19075478%*/

/*INST0072 LOGIC AND KNOWLEDGE REPRESENTATION*/

/*DR ROB MILLER*/

/*ASSESSMENT PART A%/

scrabble points(a,
scrabble points(b,
scrabble points(c,
scrabble points(d,
scrabble points(e,
scrabble points(f,
scrabble points(g,
scrabble points(h,
scrabble points(i,
scrabble points(j,
scrabble points(k,
scrabble points(1,
scrabble points(m,
scrabble points(n,
scrabble points(o,
scrabble points(p,
scrabble points(q,
scrabble points(r,
scrabble points(s,
scrabble points(t,
scrabble points(u,
scrabble points(v,
scrabble points(w,
scrabble points(x,
scrabble points(y,
scrabble points(z,

scrabble score([],0

)
]

"/ /

scrabble score([H|T], N) :- scrabble score(T, Nl1),scrabble points(H, P), N is N1 + P
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/*ASSESSMENT PART B*/

word _with_replacements([],[]).
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word with replacements([a],[e]).
word_with replacements([e],[a]).
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word with replacements([H|T], [H1|T1]) :-
word_with replacements(T, T1),
word_with replacements([H], [H1]).
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word_with replacements([X],[X]) :- X \= a, X \= e.
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